

# SYMBOLRAETSEL

Zu diesem Gleichungskonstrukt sind die realen Zahlen zu ermitteln.

$$\begin{array}{c} \text{A} \text{A} \text{A} + \text{A} \text{B} \text{B} = \text{A} \text{B} \text{B} \\ + \quad \quad - \quad \quad + \end{array}$$

$$\begin{array}{c} \text{A} \text{B} \text{B} - \text{A} \text{B} = \text{A} \text{A} \text{A} \end{array}$$

---


$$\text{A} \text{B} \text{B} + \text{A} \text{B} \text{B} = \text{A} \text{B} \text{B}$$

$$\text{A} \text{A} \text{A} + \text{A} \text{A} \text{A} = \text{A} \text{A} \text{A}$$

$$\text{A} \text{A} \text{A} - \text{A} \text{A} = \text{A} \text{A} \text{A}$$

---


$$\text{A} \text{A} \text{A} + \text{A} \text{A} \text{A} = \text{A} \text{A} \text{A}$$



	KKD	KAC	JHA	KKD	JKK	EDG
	JCJ	HG	JKK	GED	HG	KAC
+	EDG	GED	HCD	JHA	JCJ	HCD